## Anx B - Work Completion Report

Company		Modi Realty Pocharam LLP		Name of contractor	M Vijaya Laks	hmi	SI.	No. site bills	reg. 600	600	
Project/site Nilgiri Heights			Nature of work	Painting Work		Dt. site bills reg.		28/10/25	28/10/25		
Block no	Block no. A-Block			Work done from date	21/10/25		M-codex bill ID.				
WO no.	Hank little	NA		Work done to date	25/10/25		WO issued?		NA	NA	
WO date	e	NA		Contractor bill no.			GS'	T bill required	d? No		
SI.			De	tails of work	Qty	Units		Rate ID	Rate	Amount	
No.											
1	Painting	Work - Stage - 3 - 25%	Fla	t no - A - 307 - 1450 Sft	1450.00	Sft		PT156	8.00	11,600/	
2											
3	Painting	Work - Stage - 3 - 25%	Flat	no - A - 407 - 1450 Sft	1450.00	Sft		PT156	8.00	11,600/	
4											
5			1	ranian material							
6											
7					STREET, LINE STREET, S						
8											
9											
10						Party line					
	10.80		100	architectural application (1914).					Total	23,200	
Remarks	s:										
Approve	ed by pro	ject manager	7333	Approved by QS team			Approved by Director/E&D team				
Sign:	1	APPROVED B	VI	Sign:			Sign	1:			
Date:			'	Date:		No little to	Date:				
equired i.e., d	letails cannot tive E&D me within 2 work	es polytation report and advice for crube crute. S. For hill impount more to be taken. T. Director includeing days of work completion (with or C. VIJAY RAJ	greater	than 10k QS manager and directors a	approval is required. 6. Sachin (for Vivopolis).	For bill amount B. anand Kur	nt less th	han 10k any QS tean NGH + NRK). 8. E	n member may sign as intry of rate ID is man	datory. 9. This sheet	

<b>ESTIMA</b>	TE SHEET						
Company Name:		MRPLLP	Prepared by:	Prepared by:			
Project:		Nilgiri Heights			Vijay Raj		
Work De	scription:	Final Painting Work in	A - 307, 407 - (S	Stage - 3	- Final 25%)		
Contracto		Vijaya Lakshmi	d and an action				
Date:		27-10-2025					
S.No.	Item Head	Item Description	Quantity	Units	Rate	Amount	Grand Total
	Final Painting Work in A - 307, 407	- (Stage - 3 - Final 25%)					
1	Painting Work	A - 307- 1450 Sft	1,450.00	No's	8.00	11,600.00	
	Stage - 3 - 25% - Final Coat						11,600.00
2	Painting Work	A - 407- 1450 Sft	1,450.00	No's	8.00	11,600.00	
	Stage - 3 - 25% - Final Coat						11,600.00
			Total Amount				23,200.00
	NOTE: - RATE ID - PT 156						
	Amount in words :- Twenty Three Th	nousand Two Hundred Rup	ees Only				



	EMENT SHEET					TO THE REAL PROPERTY.				
Company Name:		MRPLLP	Prepared by:		Vijay Raj	100 mil				
Project:		Nilgiri Heights				W				
Work Desc	cription:		Final Painting Work in A - 307, 407 - (Stage - 3 - Final 25%)							
Contractor	Name:	Vijaya Lakshmi			1	100000				
Date:		27-10-2025			NAME OF TAXABLE PARTY.	MARKET THE		200		
			A	В	C			0.00000		
S.No	Item Head	Item Description	Length	Width	Height	No's	Quantity	Units	Total Head	
	Final Painting Work in A - 307, 407 - (Stage - 3 - Final 25%)									
1	Painting Work	A - 307- 1450 Sft	1,450.00	1.00	1.00	1.00	1,450.00	Sft		
	Stage - 3 - 25% - Final Coat					The State			1,450.00	
2	Painting Work	A - 407- 1450 Sft	1,450.00	1.00	1.00	1.00	1,450.00	Sft		
	Stage - 3 - 25% - Final Coat								1,450.00	

## Bill for Labour Charges

Vijaya Lakshmi, Mallapur,Malkagiri Hyderabad.

Date: 27.10.2025.

In favor of:

MRPLLP.

Project / Site:

Nilgiri Heights.

Location:

Pocharam.

Type of Work: Towards: Painting Works. Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Towards Completion of Final Painting Work in A - 307, 407 - (Stage - 3 - Final 25%) Total Amount = 23,200/- Work done from date 21.10.2025 to 25.10.2025.	Rs. 9,280/-

Amount in words: Nine Thousand Two Hundred and Eighty Rupees Only.

Sign:			
DIEII.			

## **Bill for Equipment Allowance**

Vijaya Lakshmi, Mallapur, Malkagiri Hyderabad.

Date: 27.10.2025.

In favor of:

MRPLLP.

Project / Site:

Nilgiri Heights.

Location:

Pocharam.

Type of Work: Towards:

Painting Works. Allowance for Equipment

S No.	Description	Amount
1.	Brief description of work done: Towards Completion of Final Painting Work in A - 307, 407 - (Stage - 3 - Final 25%)	Rs. 9,280/-
	Total Amount = 23,200/-	
	Work done from date 21.10.2025 to 25.10.2025.	

Amount in words: Nine Thousand Two Hundred and Eighty Rupees Only.

Sign:	
_	

## **Bill for Consumables**

Vijaya Lakshmi, Mallapur,Malkagiri Hyderabad.

Date: 27.10.2025.

In favor of:

MRPLLP.

Project / Site:

Nilgiri Heights.

Location: Type of Work: Pocharam. Painting Work.

Towards:

Allowance for Consumables

S No.	Description	Amount
1.	Brief description of work done: Towards Completion of Final Painting Work in A - 307, 407 - (Stage - 3 - Final 25%) Total Amount = 23,200/-	Rs. 4,640/-
	Work done from date 21.10.2025 to 25.10.2025.	

Amount in words: Four Thousand Six Hundred and Forty Rupees Only.

Sign:			